Pedestal Distribution (average fADC count between 120 - 160 ns)
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Amplitude Distribution (no pedestal subtraction)
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Integral Distribution (no pedestal subtraction)
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Amplitude Distribution (with pedestal subtraction)

— T T T[T gt T T T T T ham pSUbl

i Entries 100000
104 =

E Mean 188.8

B Std Dev 216.1
103 - Underflow 0

E Overflow 0
102 = _—

10 E_ guad3
E — quad4
N guadsum
g |
:__j___l___l__ L |H N B B R B

400 -200 O 200 400 600 800 1000
Amplitude [fADC]



Integral Distribution (with pedestal subtraction)
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Amplitude (pedestal subtracted)

5000

4500

4000

3500

3000

2500

2000

1500

hampSub_ 2D
L L B I L O DO B :
B Entries 100000
B Mean x 0
- Mean y 0
B Std Dev x 0
o Std Dev y 0
B 0 0 0
B 0 0 0
— 95926 4074 O
- =4 19
o 1 179
B 1 —-0
B 1 ——0.
N 1 170
Coovv e b b P b berv s P Py g 007 -0

10(1%

00 1500 2000 2500 3000 3500 4000 4500 5000
gquadsum



Integral (pedestal subtracted)

10000

9000

8000

/7000

6000

5000

4000

3000

2000

10q%

00 2000 3000 4000 5000 6000 7000 8000 9000 10000
gquadsum

hintSub 2D
LI L L O I B B I R B B B - =
B Entries 100000
B Mean x 0
- Mean y 0
B Std Dev x 0
- Std Dev y 0
B 0 0 0
[ of o 0
B 8577614224 0
B 10
B 1 —-0.
: 1 —-0.
B 1 — 0.
_— ____0
T b b b oo b b b b T -0



	Contents
	Page 1
	Page 2
	Page 3
	Page 4
	Page 5
	Page 6
	Page 7


